
1−000030−L0 SE860−2A_1

LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=100
of usually 50/−50nm bandwith for D65
in the chromaticity diagram (a, b)
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LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=100
of usually 50/−50nm bandwith for D50
in the chromaticity diagram (a, b)
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1−000030−L0 SE860−2A_1

LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=100
of usually 50/−50nm bandwith for P40
in the chromaticity diagram (a, b)
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1−000030−L0 SE860−2A_1

LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=100
of usually 50/−50nm bandwith for A00
in the chromaticity diagram (a, b)
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LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=100
of usually 50/−50nm bandwith for E00
in the chromaticity diagram (a, b)
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LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=100
of usually 50/−50nm bandwith for C00
in the chromaticity diagram (a, b)
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LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=100
of usually 50/−50nm bandwith for P00
in the chromaticity diagram (a, b)
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1−000030−L0 SE860−2A_1

LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=100
of usually 50/−50nm bandwith for Q00
in the chromaticity diagram (a, b)
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1−001030−L0 SE860−2A_1

LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=88,6
of usually 50/−50nm bandwith for D65
in the chromaticity diagram (a, b)
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LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=88,6
of usually 50/−50nm bandwith for D50
in the chromaticity diagram (a, b)
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LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=88,6
of usually 50/−50nm bandwith for P40
in the chromaticity diagram (a, b)
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LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=88,6
of usually 50/−50nm bandwith for A00
in the chromaticity diagram (a, b)
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LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=88,6
of usually 50/−50nm bandwith for E00
in the chromaticity diagram (a, b)
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1−001030−L0 SE860−2A_1

LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=88,6
of usually 50/−50nm bandwith for C00
in the chromaticity diagram (a, b)
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Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=88,6
of usually 50/−50nm bandwith for P00
in the chromaticity diagram (a, b)
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LABCab 77
Name and spectral range
Rwo 545_495 YRwo 520_470
Yno 545_595 YGno 520_570
Gno 495_545 BGno 470_520
Optimal colours (o), YW=88,6
of usually 50/−50nm bandwith for Q00
in the chromaticity diagram (a, b)
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